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ImageWriter LQ Doesn't Have 50% Reduction Capability

This article last reviewd: 6 May 1988

Sone users have asked why the ImageWiter LQ options for reduction are 33%
and 66% only, instead of a 50%reduction as with the ImageWiter 11I.

The reason is this: the Macintosh screen is 72 dpi, and the ImageWiter LQ
in Best node prints at 216 dpi. If you take the inage on the screen, and do
not scale it in any way before sending it to the ImageWiter LQ (printing
at 216 dpi), the output reduction is 33%-- that is, 72/216.

If you scale this screen image by a factor of two and print it on the sane
printer at 216 dpi, the result is a 66%reduction -- or, 144/216.

This is the difference fromthe InageWiter |I, which prints at 144 dpi
The unscal ed screen i mage, when sent to the printer, automatically prints
at 50%reduction -- at 72/144.

The reduction nodes chosen for the ImageWiter Il and I mageWiter LQ
printers represent the "natural" reduction nodes for each, depending on
the printer resolution, and the way the InageWiter printer drivers handle
bit-map printing.
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